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INSTRUCTIONS

Answer all questions,
All questions carry equal marks.
Only one answer is o be given for each ‘question,

If more than cne answers are marked, it would ba
treated as wrong answar.

Each question has four
marked seriaily as 1,2, 3, 4. You have to darken
only one circle or bubble indicating the correct
answer on the Answer Shest using BLUE BALL
POINT PEN,

1/3 part of the mark(s) of each'quistion will be
deducted for each wrong answer. (A wrong
answer means an incorrect answer or more than
one answers for any question. Leaving all the
relevant circles or bubbles of any quastion blank
will not be considered ag wrong answer,)

The candidate should ensure that Series Code of
the Question Paper Booklet and Answer Sheet must
be same after opening the ervelopes. In cass they
are different, a candidate must obtain another
question paper of tha Same series. Candidats
himsel! shall be responsible for ensuring this.

Mobile Phone or any other electronic gadget in the
examination hall is striclly prohibited. A candidate
found with any of such objectionable material with
him/her will be strictly dealt as per rules,

Pleasa cirractly filf your Roll Number in O.M.R.
Sheet. § marks will be deducted for filling wrong or
incomplete Roll Number, ’

it a candidate is foung copying or if any
unauthorised material s found in hisfher
Fossession, FILR. would be lodged against
him/her in the Poiice Station and he/she would
liable to be prosecuted under Section 3 of
the R.PE. {Prevantion of Unfairmeans) Act,
1992, Commission may also debar him/her
permanently from all future examinations of
the Commission,

alternative - responses
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1 Which,one, of the following pairs is chggF ?

‘Location of Rajasthan Lt Total geographical

area in km

(1) 23937 - 30°12' N & 69730 — 78°17E 342239.74

(2) 23930 - 30013 N & 69°30' — 78°2Y' E 342245.69

(3) 23925 - 30°12' N & 69029' — 78925' E 34224133

(4) 23°28' - 30014' N & 69°21 - 78024 E 342243.67

P A WM W gW AR T

e # Raf R Fw Anifs o
T frel WX U

(1) 2393 - 30°12' N &iIT 69°30' ~ 78017 E 342239.74
(2) 23930' — 30°13' N ofi¥ 69°30" — 7821 E 342245.69
(3) 2325 — 30°12' N it 69°29' — 78%25" E 342241.33
@) 23028 — 30014’ N ot 69021 — 78%24" E 342243 .67

2 The isobar of 1000 millibars over the Rajasthan in the month of July passes
through : _

(1) Sirohi; Udaipur, Pratapgarh and Jhalawar

(2) Sirohi, Chittaurgarh, Kota and Baran

(3) Jalore, Pali, Ajmer and Karauli

(4) Udampur, Chittaurgarh, Kota and Baran

1000 R & wEE Y@ gEE AE A e €

() R, SEagy, T SR S g

@) Rrdd, T, @R ST i

@) WmR, TR, oeeR TE weW ¥

@) sy, FaeTe, B wd d A

3 From the point of view of drainage area the correct descending order of river
systems of Rajasthan is :

(1) Chambal, Luni, Mahi, Banas (2) Chambal, Luni, Banas, Mabhi
(3) Banas, Chambal, Luni, Mahi (4) Banas, Chambal, Mahi, Luni

W%ﬁﬁﬁwﬁﬁmwﬁmﬁw%:
(1) o=d, @, 9, 99 () o, W, T, "R
() oW, T, T, AR (4) w, =W, AR, Tl
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4 What major changes (data in Yoling” fig igures) have occured in crcp’pin‘g pattern
of Rajasthan since First Plan Period to till date ? R

(i) Area under foodgrain crops. has increased from 42% to 56%.
(i) Area under pulses has decreased from 21% to 18%
(i) Area under oilseeds has increased from 6% to 21%

{(iv) Area under cotton, sugarcane, guar, fodder crops, fruits,” veﬂetables and
spices has increased from 19% to 20%. e

Select the correct answer using the following codes -
() (i), (i) and (i) |

(2} (i), (i) and (iv)

(3) (i) and (iv)

(4) (i) and (iii)

Wﬁuwﬁwwé.'wwm%mﬁw-wﬁaﬁ
(aﬁrr_%tgwfaeff)trfé—crgq%?

(i) Waﬁmﬁ‘rmaﬁtﬁa@%@aw%%ﬁw%
(ii) WW@WN%QWIS%WW%E
(iii)%aﬁm%awa%ﬁamzl%aw%

THEL 20% & T &
(1 (). () wd (i)
) (@), (i) wd (iv)
() (i) <@ (iv)
(4) () & (iii)
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§  Match, List-I with List-11 and select the,goirect answer using the codes given

below gt
List-1 List-I1
{Areas in Rajasthan) (Cow_ Ibreeds) _

(iy North western Rajasthan (a) T-{Ie;fh:i

(i) South western Rajasthan (b)..:“l'(lén.l‘(!réj

(iii) Western Rajasthan (c)."l::'::‘l”ﬁgr"ﬁarkar

(iv) South east central Rajasthan (d) Gir |
Codes : \
mmwwwmmmmww
@ @) - @, @ - b, Gi) - @, () =@
3y @) - (), @) - ) GiD) - (@), (V) (0
muwwmmwmmmﬁ)

qﬁf---laﬁqﬁr—-n%gﬁ%ﬁa%\ﬁmamvhﬁﬁng@—ﬁWWWHﬁ
I ghg -

T = . SR |
(o % ) ()
(i) JIad Tie IR (a) <
(ity ool oyt TR (b) @S
(iti) ufyeq TeTeT (c) URARHX

Gy) chmr qd Aemed TeREE () fir
= _

Ay (0 - (o) Gi) - ) (i) - @, (v) - (d)
) (@) - (@), @) - (), (@) - (cj, (iv) - (d)
3 ) - @), G - O) i) - @), ) - (c)
@ @) - ) @) - (0, i) - (). V) - (2)
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6

On the basis of industrial potehtialities which of the following.' districts of
Rajasthan fall under category 'A' ?

(1) Banswara, Nagaur, Tonk, Srkar
(2)- Udaipur, Alwar, Kota, Bhilwara

(3)  Jaipur, Bharatpur Tonk Jodhpur

(4) Nagaur, Kota, Banswara Slkar

The most recent poverty alleviation project launched in Rajasthan is -

(1) Mitigating Poverty in Western Rajasthan (MPOWER)

(2) Swarna Jayanti Gram Swarojgar Yojna (SGSY)

(3)  Mahatma Gandhi National Rural Employment Guarantee Scheme (MN REGS)

(4) District Poverty-Initiative Project (DPIP)
Wﬁﬁéﬂm'aﬁﬁ?ﬁeﬂwaﬁﬂéwm%
(1) il orem ¥ Prefea P yISHe (MPOWER)
() @i S T "R g (SGSY)

Q) mEen AWl o i e TS W (MNREGS)
@) e frefar-vew Wk (DPIP)
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Match Listot with List-1l and select the-cbrrect answer using the codes given

below the lists ! SRS
List-i M LseTn
(Development Sector) (Percentage of Total Budget

Allocatlon in the Twelfth Five
‘te‘lr Plan of Rajasthan)

(i)  Agriculture and allied activities (_a) 6.41
(ity Rural Development STEY 9.0
Gii) Energy - o) 3453
(iv) Sot¢ial and Community Services (dy 37.43
Codes :

W6 - @, G - G @) - ©, @ - @
Q) G - O, G - (@), i) - @, ) - ©@
Gy G - (. @) - (o) (i) - (b (V) - @
@ O - (@, G - o), i) - @ @ - ©

g - ll%gqﬁamﬁqamqjﬁm%%ﬁmgq@wwmb
H‘&W@&{Q: ”

T Il
(fam &) | (aredi GeEdE AR ¥ FA A
| R W SAE)
() TN U e fpamd (@ 641
Giy e fae (b) 9.10
(iity Tt .(c) 34.53
(iv) amdE Td ETaRies Famd (d) 37.43
@ :

(1y ) - @), G - @), (i) - (0, (v) - (d)
@) G) - ), G - (@) @) - @, (v - (©
G) Q) - (d) ) - (), (i) - (b), (V) - (@)
@ @) - (@), G - ®), i) - @, @) - ©

00 Aj 6 [ Contd...
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[1

12

The most important cement producing districts in Rajasthan are -
(1) Bundi, Chittaurgarh, Kota, Sirohi and Udaipur

(2) Chittaurgarh, Udaipur, Pratapgarh and Banswara

(3)  Sirohi, Kota, Dungarpur and Banswara

(4} Kota, Bundi, Tonk and Bhilwara

I ¥ @8 sy ¥ ERCIRE R

) o, fdrews, e, Rdr we omugy

) Frdems, s, AT o EIEEIE

3) ROd, @, sy REBIE IS

@) =, 3, JF ud e

Name the traditional rain water storage system originally developed by Paliwal
Brahmins in Jaisalmer

(1) Baori (2) Khodin

(3) Kund . @) Ukeri
ﬁwﬁ%mmﬁm%%%aﬁmwm
B AR T -

(1) =gt 2) @wH

() Fw= @) wHh

Which one of the following " statements is correct ?

(1) Ganeshwar is not an excavation site.

(2) Bairath was a ryral cultural centre.

(3} Kalibangan was an example of Iron-ore.

{4) Important occupation of the inhabitants of Ahar was smelting of
Copper-ore and making of copper things.

Pt & & #7 @ @ wg Ca

() TR UF ST ww G@) 0

(2) s @ ww-wwh T oar |

(3)mﬁham6ﬁ3—gwﬁ@%mwmmml

4) Wm@wmﬁwwawma@imm:

Which one of the foltowing historians termed Kalibangan as the third capital
of Indus Valley empire ?

(1) G H. Ojha (2) Shyamal Das

(3) Dashrath Sharma (4) Dayaram Sahanj

() <. wa she - (2) mE e
(3) =g gt (4) =arRm aH
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13 In Rajasthan capital of Harish Chandra,” the founder of Pratihar dynasty

was at !

(1) Merta (2) Jalor

(3) Bhinmal (4) Mandoy
Wﬁffuﬁimaﬂéswﬂumsﬁawa%w'ﬂeﬁ:
(1) ¥ 2) I

(3) WA (4) TOSK

14  Which of the following Chande! ruler was contemporary of
Prithviraj Chauhan 111 7

(1) Parmardi Dev (2) Jaiverma
(3) Kirtiverma {4) Yashoverma
Q&E’mﬁﬁ‘rﬁﬂqﬁr&rmaﬁrﬁ%ﬁﬂ%ﬁsﬂwm:
(1) "l &9 () <Ea

(3) e (4) astad

15 The chronological sequence of Allauddin Khalji's following conquest 15 :

A.  Ranthambor B. Jalore

C. Chttor ~ D. Siwana

() A C DB (2) A B CD

3) AB D C 4 A C B D

sees Raeet @t Rrmifra faorl @ BREEAIZER Srafted B
A, TEERER B. WWR

c fads . D. R

() A C, DB @) A B C D

) A B, D C 4y A C B D

16 To whom Akbar entrusted Jodhpur in 1572-73 AD.?
(1) Mota Raja Udai Singh
(2) Rai Singb of Bikaner
(3) Man Singh of Amer
(4) Ram, the eldest son of Maldeo
1572.73 . # ot I shugy e gw o ?
(1) e TeEniE @ @R & ke
G) o ¥ "ERiE (4) R & TS LA M

00_A] -8 [ Contd...



17 Rana Raj Singh (Mewar) was contemporary of :

(I) Akbar (2)  Jahangir
(3)  Aurangzeb | (4)  Shahjahan
R T (Far) aveeT or

(1) @R (2) R
(¢) &g 4) Rl

18 List of some Rajput rulers is given below -
A.  Rana Sanga
B. Chénder Sen
C.  Man Singh

D Rai Singh
Out of these select-two who supported Mughals :
(1) C and D (2) A and B
(3) B and C (4) A and D
FT AT E A G N oo o T
A O @

B. ==@m

C.  uefdE

D <mfts
ﬁ%%ﬁwmﬁwmﬁwm
(1) CaRD (2) AT B
3) BarC (4) AD

12 Sadhu Sita Ram Das was associated with which peasant movement ?

(1} Bijolia (2)  Shekhavati
(3) Sikar (4) Bundi

WY WARM < Rew pve emdie & gmbug ey 7
(1) fasffera (2)  srETaTe

(3) dmx 4) g4
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20 Match List-I and List-1l and choose youf, answer from the codes given

below :
List-1 List-11
Prajamandal (States) Year of their formation
I Dungarpur (a) 1931
m Jaipur | ) 1936
I  Bikaner (c) 1938
V. Alwar (@ 1944
Codes :
1 i [ v
1 @ (a) () (b)
2) @ (a) (b) (©)
® @ ® © @
@) ® (d) (a) (©)

@—Iﬁ@—-ll%m&@%ﬁaﬁﬁﬂqﬁﬁrﬁf%ﬁg@ﬁﬂﬁwm
TG g _

-1 gA-J1
e () TR T 3y
I ¥Ry () 1931
M SR (b) 1936
MERIE T () 1938
vV &Ear (d) 1944
T
I I I v
M (@ (a) (c) (®)
2 (@ (a) (b) (c)
(¢) (@ (b) (c) (d)
@) b (d) @ ©

00 Aj 10 [ Contd...



1

21 Ajmer was merged into 'Rajd48than in -

(1) 1947 AD. (2} 1949 AD.
(3) 1950 AD -yl (4) 1956 AD. il
SHY B IO H Ry BT oy -
() 1947 € % 3 (2) 1949 ¢, ¥
(3) 1950 £ % @ 1956 3
22 In how many stages Sirohj state was. integrated into Rajasthan ?
(I) One ; (2) Two
(3) Three ‘ ' (4) Four
oot damt & g oy e # R gen 7
(1) u=s Q) =
(3) @ R CYR. 14

23 First Woman of Rajasthan arrested during the freedom struggle of Rajasthan :
(1) Nagendra Bala '
(Z) Anjana Devi Choudhary
(3) Ratan Shastri
(4) Rama Devi Pandey -

24 With reference to Narayani Devi Verma which one of the I’(jllowing statement
1S incorrect ?
(1) She remained member of Rajya Sabha from 1970 to 1976
(2}  She established Mahila Ashram at Bhilwara in 1944
(3) She was the member of Lok Sabha from 1957 1o 1962 -
(4) She was imprisoned for taking part in 1942 movement

ﬁwﬁf%aﬁwmmmwvﬁéiﬁaﬁ%mﬁ‘w%?
(1)'%1970&1976335?@@1&%8@@'
(2)@%1944&%@7&%@41%3&%@[
(3) =® 1957 & 1962 % Wwawl # ge@r ) .
(4)3%1942%3@4@61?‘3(%%%%?@%@1:{1@

00 A] u [ Contd...




25
(1) Surahavardi (2) Kadn
(3) Chisti (4) Nakshbandi
st % e A e g R § wAba ¥ 7
(1) geEd @ @l
3) Tash (4) TETE=l
26 Which fort has the entrance gate known as 'Naulakha Darwaza' ?
(1} Chittor (2) Siwana '
(3) Jalore (4) Ranthambore
fipm gl @l WAMEX B L e 1 A 1 LS L
(1) T (2) foarm
3) WX (4) TS
27  In which month is the fair of Gogaji held ?
(1) Bhadrapad (2) Magh
(3) Phalgun (4) Shrawan
ey @ den fEE uE ¥ A E 7
(1) WEds (2) #™
(3) A (4) SN
28 The ornament 'Memand' is worn on -
(1) Head (2) Waist
(3} Arm (4) Teet
Ay oIS TET W1 § -
() W 2) R W
(3) ¥ W 4y T W
29 Name of the birth place of Tejaji is
(1) Dadreva (2) Khadnal (Kharnal)
(3) Asind (4) Kolu
Foml % wE W AW § -
(1) =ae @) T (@E)
(3} omEE (4) @i
00 A] 12

Khwaja Moinuddin of Ajmer belongsl{tr:;}”,_yvhich Silsila of Suffism ?
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30 Match List-l with List-11 and’ select the correct answer using ‘the codes given

below the lists -
List-I
(Authdrs)

(I)  Karnidan

() Daulat Vijay

(1) Padamnabh

(IV) Jagjeevan Bhatt o

G
.(b)

.-f'

-2 (1)
S

(d)

List-11

(Works)

(a)  Ajitodaya

(b} Kanhed de Prabandh
(¢} Khumanraso

(d) Surajprakash

(IV)
(a}
(c)
(d)
(©)

wlﬁqﬁrlégﬂﬁaaﬂﬁquéﬁﬁaﬁ%@wﬁﬂﬁw

Code :

(I {n
(1Y (d) (c)
2) (b (a)
(G) (a) (b)
4) (d) (a)
W 9 DIy

i Lo |

(ererer)
(O &R
(1)  <adtyer
(1) TR
(IV) wreiiaq w3
% :

(1) (Im)
(1) () (©)
2) () (a)
) () (b)
(4) (d) (a)

(1)
(b)
(d)
(c)
(b)

TR~I1
()
(@) ey
(b) FHrEse wuy
© g
(d) gTTIBI9

1v)
(a)
{c)
(d)

(c)
13 | Contd...
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32

33

34

36

Most- famaous Kishangarh style's painter was :

(1) Nagridas (2) Ram Lal

(3) Al Raza (4) . Hassan

RpeFE S @1 TS RS A

(1) ST (2) M

(3) SRS . 4y -FEA

What is Ravanhattha ?

(1) Type of dance (2) Musical Instrument
(3) Title of a book (4) MName of the place
TEvEET N E 7 | ‘

(1) T& Wb & T (2) aEEA

() U YEH F WD (4) W & "M

For the first time, when President's Rule was imposed in Rajasthan, the Governor
of the State was :

(1) Hukum Singh (2) Joginder Singh

(3) Sampurnanand (4) Raghukul Tilak
Wﬁmqﬁwmﬁsmww,wﬁsw%:
() = RE () wifieT ©E

(3) e @) Tggw e

According to the Constitution, the Chief Minister is :

(1) Elected _ (2) Appointed

(3) Selected (4) Nominated

R ¥ emer, gerl fe s o

(1) faffea @) Fawm

(3) =g (4) TER

‘Parliamentary Secretary’ in a State makes an oath or affirmation before :
(1) Governor (2) Chief Minister

(3) Speaker (4) Chief Justice of the High Court
Wﬁ‘@e@maﬁa’m%ﬁwawmém%mmﬁw% ?
(1) oaa& & (2) geIT &

() TaumEsw-sies % (4) w= OEEE & A i %
The Governor addresses his resignation to

(1) President _ (2) Prime Minister

(3) Union Home Minister (4) Chief Justice of the High Court
TR SO AR S Al §

(1) rgHts @l (2) WEFEE @

G) wu & 5 N @ (4)@%@%3@:@{%3%

00_Al| 14 | Contd...
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38

39

40

41

(1)

Who is at the apex of théadministrative hierarchy of a Stats 7 -
B I' . v

(1) Cabinet Secretary ,

(2)  Principal Secretary to 'the Government

(3)  Chief Secretary o

(4)  Principal Secretary to the Chief Minister
ﬁﬁeﬁﬂwfﬁmﬂmmﬂﬁﬂssﬁéwﬁm%: -

(1) dAfmew gie Q) g s afe

() Ter whm &) Forsl & v whe

The total sanctioned strength

of members, including the Chairman of Rajasthan

Public Service Commission, is :

(1) 5 (2) 6
(G) 7 4) 8

TSR Tt de1 o % gawd 4, Sy Wiew, oo i dem @
(1) 5 2) 6

3) 7

Which schedule of the Indian
Panchayats 9

Constitution is related to the Powers of

(1) Third (2} Fourth

(3) Tenth {4) Eleventh

A W ) A ol vt 1 ot @ e 3 ?
(1) el . (2) el -

(3) =TwaEl (4) ey

Rajasthan State Human Rights Commission was established in the year
(1) 1995 (2) 2000 :

(3) 2001 (4) 2005

TR 9 AR e o e feg % °?

(Iy 1995 & (2) 2000 %

(3) 2001 g (4 2005 %

Bajrang Lal Takhar was selected

He is associated with -
Shooting

(3)  Archery

for Padma Shri Award 2013 from Rajasthan,

(2)  Swimming
(4) Rowing

Wﬁmamﬁmsﬁwzowﬁsﬁﬁgmnml

98 ddftm & -

(2) éw%’r#r
(4) -EET ¥

15 [ Contd...




43 Which one of the following pair is not__i_':cdii:r'ect ?

(1) Vijay Kumar - Squash -

(2) Rahul Khatrt - Karate

(3) Sapan Tilokani - Shooting:
(4) Ghamanda Ram - Athletics

Srq ¥ ¥ A TH G W OE 7

(1) FR=g FR ~ W

@) g @ - WK

(3) U R ~ e
(4) =AUSI TH - e

43 Match List-1 with List-II and select the correct answer by using the codes given
below the lhists :

List-1 © List-TX
(District) _ (Density of Population—ZOll)
A Jodhpur 1 503 ‘
B Kota S 2 305
C  Ajmer 3 374
D  Bharatpur 4 161
Codes :
A B C D
1y 1 2 3 4
2) 2 1 4 3
3y 3 4 1 2
4) 4 3 2 1

@-m@—uawmmw%ﬁﬁa@@zmmw

-1 Bl
(fa=m) (FrEn TEe—-2011)
A WugY ] 503
B @& 2 305
C @ 3 374
D W@ 4 161
A B C D
(1) ~paT 2 3 4
2) 2 1 4 3
3y 3 4 1 2
(4) 4 3 2 1

00 A 16 [ Contd...



44 Qut of the following authors, who has written 'A History of Rajasthan' ?

(I) Rima Hooja (2) Satish Chandra

(3) Summt Sarkar (4) R. C. Majumdar
Prefifes et ¥ ¥ P T R ofw AT B dwm ¥ 7
(1) T g (2) @ T

@) g WK (4) oM. . TERR

45  Consider the following schemes : .
A.  Janani Shishu Suraksha Yojaﬁa
B.  Swawlamban Yojana
C. Rashtriya Mahila Kosh
D, Swayamsiddha Yojana
What is the correct chronological sequence of above schemes ?
(I C, D A B : {2y B, C, D A
3) A, D C B 4 D, C B, A
Frafafas dommel ov fram it
A. ST Ty geem @
B. w@raeEs A

C. =l Afew =iy

D. wdfeg e

JUFT ATl Bl WE BIOTEY F ¥ 7

() C.D, A B (2) B, C, D A
(3) ADCB - . 4 D, C B A

46  In Rajasthan, 'Rajeev Gandl Paryavaran Sanrakshan Puraskar' has been given
on the occasion of

(1) Rajeev Gandhi Birth Anniversary Day — 20 August
(2) World Environment Day — 5 June
(3) Ozone Layer Conservation Day — 16 September
(4) Earth Day — 22 April
T H [ W TE S [EER wEE e 9w ¥ -
() o TR & S| — 20 oA @l
(2) fayg wiERw fmw - S S@ @
(3) oM Utd EXE fmw - 16 fyoew @t
4) v feaw - 22 ofw @
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"Récently UNESCO has included six Hill Forts of Rajasthan in the World Heritag

list. These are : _

(1) Chittorgarh, Kumbbhalgarh, Ranthambore, Amber, Jaisalmer, Gagron
(2) Chittorgarh, Kumbhalgarh, Ranthambore, Amber, Jaisalmer, Bikaner
(3) Chittorgarh, Kumbhalgarh, Ranthambore, Amber, Jaisalmer, Jodhpur
(4) Chittorgarh, Kumbhalgarh, Ranthambore, Amber, Gagren, Jodhpur

o & W g A (e b 6 Terel fhwl @ fasa exm gE oW anfe
femr 3 19 % -

() RrieTe, Fwame, TEER, dER, SEE, TRE

@) fudeTe, T, TEER, AR, SEEiR, Dbt

() TR, pommeg, RRER, oW, SEEE, Syl

(4) T, FoETs, WWER, qMY, TRE, SUHUYT

According to the Raghuram Rajan Committee report, the Rajasthan state ha:
been identified as the -

(1) least developed state (2) less developed state

(3) relatively developed state (4) developed state

AW oA B NG & AgaR WO [ w OAE T § -

(1) weg &n fqsfag wo @ @n fasfa s

(3) gadow wU ¥ TaEham T @) feihd s

'Rajasthan Ratna' is the highest civilian award of Rajasthan. This award was
instituted by the State Government in the year of -

(1) 2008 (2) 2010

(3) 2012 4) " 2013

TSR T USRI 1 Faied APie Y ¢ | T TR 811 38 I
@ giw fepar wn ar -

(1) a9 2008 H (2) wd 2010 &

(3) =¥ 2012 ® (4) a9 2013 &

The basic objective of Amrita Society in Rajasthan is :

(1) to provide health facilities in rural areas of Rajasthan.

(2) to provide marketing opportunities to women Self-Help Groups product.
(3) to provide safe drinking water in rural Rajasthan.

(4) to provide marketing opportunties for dairy products.

T A omar R @ ge SR ¥ -

() g™ & aeiel &= § wne glawel @) wee & |

(2) wfe wrl-geRa-TE & SOl B ROue F SEeR Suee HaE |
G) urf s § ogfaa B @ ol Sueey wEmn |

4) Th-TaRl & Y foom & sEay Suwsy HiErr |

00 A| 18 [ Contd...



53

35

An example of a cause of sudden and extreme environmental change at the local
level would be -

(1) A hurricane .- {2) A monsoon

(3) Vegetative climax v+ . (4) Post-glacial cooling :

WA WY W hRES Ud wxH vatarld qed|E % wR E SaEiv ¥ o
(1) &l (uvder) (@ wrga

G) TR @) SRt s

The hot dust-laden wind blowing from Sahara desert to Mediterranean region
is called the - '

(1) Sirocco (Z) Fohn

(3) Mistral (4) Chinook

ETU MEWW ¥ gl HeT §rIE & & yavd g ael mogd w8 ged
S W ¥

(1) T 2) w7

(3) Prgw - @ o

What was the slogan of world environment day in the year 2013 ?
(1) Think, eat and save (2) Save water

(3) Save Biodiversity (4) Save the earth

mzomﬁ%rsawﬁawﬁwwwwf&mwm?_
(1) Trafd, wed ok = md () & =wig
3) o fefqum ==y (4) Y= wEEy

'Chumbi Valiey' is located at the intersection of which countries ?
(1) India, Bhutan and Tibet (2) India, Bangladesh and Tibet
(3) Tibet, Bhutan and Nepal (4) Nepal, Bhutan and India

‘gl W R 2 & wioRa ww ux Rew &7

(1) 9Ra, @ ud fed (2) R4, diaey ot fea
() fosgd, qem g Aum (4) U, YN wd WRd
Which island related to strategic tension between China and Japan ?
(1) Hokkaido (2) Senkaku (Diaoyu)

(3) Kyushu (4) Shikoku

99 & S UF % 9y gmie @ e feg v d wwfua ¥ o2

(1) @ 2) wwrg (Remery)

3) wY @) fmrg
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Which one of the following is Hot affactor modifying ocean currents ?
(1) Bottom topography of the ocean
(2) Seasonal variation in winds _

(3) Direction and shape of the coastal ling

(4J Tidal wave in the ocean

SRR

e § 9 99 UH I Aoy arell W BUNNG el mYal & ¢

(1)" 98P Tl Bl WERpRT
(2) "EEl o A 9edrd

G) w0 X B R @ R

@) . meRTR ¥ s @8l

b

Which National Highway passes through the Siliguri Corridor ?

(1), NH-31 ’ )
(3) . NH-33 @
fakgdt afry @ ¥e) B9 @ U eErt e 7
() wedia TemRt-31 (2) U TeEnt-02
(3) UE TEER(-33 (4) U™ TSER-37
'‘Meghalaya’, a state located in the North-east India, name suggested by -
(1) S. P. Chatterjee (2) D. N. Wadia
(3) O. H. K. Spate (4) R. L. Singh
Ty’ ARG & IA-qd H R 9 @ AW gern wnoar -
(1) uwy. 4. gt & ) . T T g7
(3) . wy ® We g (4) omT. ww. f¥e =
Rivers Kosi and Kali Sindh are associated with the drainage system of
(1) River Sindh (2) Inland drainage
(3) River Brahmputra (4) River Ganga
T U B AEl N wEE-ay ¥ s@El €, 9% T -
(1) Ty 71d (2) ANE YA
(3) s W @
Which tool 1s used to find out exact location on the earth ?
(1) GPS (2)
(3) PSLV (4)
g5 wiuq ey g woad Refy o & Rl ¥ -
(1) w.9.Td. (2) e,
(3) W.uguad. (4) Sh.ug.owdl.

20
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61  Which Constitutional Act in the golonial India was culmination . gf.-
‘Montagu Declaration' ? e S
(1) Indian Councils Act, 1892 (2) Indian Councils Act, 1909
(3)  Government of India Act, 1919 (4)  Government of India Act, 1935
shefefiie wra & @ wifvefe sfufrm e der @ ol o 7
(1) e oRwg sfafram, 1892 (2) ardw ofwg sifulmm, 1909
(3) W sme wifufrEm, 1919 (@) wrdw e aiferm, 1935

S

62 Identify the incorrect pair of Constitutional Act and major provision thereof ;
(1) Indian Councils Act, 1892 - Direct Elections to Councils
(2} Indian Councils Act, 1909 — Separate Electorate for Muslims
(3) Government of India Act, 1919 — Diarchy in Provinces
(4) Government of India Act, 1935 — Provincial Autonomy

it efufem w soh ggE wEee F giget gm @ geuin
(1) srdrg oiwe sifufres, 1892 - wftwst % forg woger Prafas |
(2) W ofwe afufaE, 1909 - g % fig gow Petewovew
() wurdllm smew afufraw, 1919 - wi¥ ¥ 2y o |

(4) WA s afufrm, 1935 — widw @

63 The only Annual Session of Indian National Congress in 1924 presided by
Mahatma Gandhi was held at :

(1) Kakinada (2) Ahmedabad

(3) Vardha (4) Belgaum -

HETHT TIEN ) e ¥ WA U HE &1 e e 1924 5. % B ot
(1)  werrer o (2) oEWEERE

(3) aui o - (4) Swg §.

64  During which movement of Freedom struggle, the Gandhi-lrwin Pact was signed ?
(1) Non Co-operation Movement (2) Civil Disobedience Movement

(3) Quit India Movement (4) Champaran Satyagrah
wA-gad % fhd e & T md-gthe wee wosmer gy ?
(1) SI98arT TR (2) wloTa smsm stiewA
(3) WRa BE W (4) TRV HwE

65 Who was the Chairman of Drafting Committee in the Constituent Assembly ?
(1) Jawaharlal Nehru (2) K. M. Munshi
(3) B. N. Rau (4) B. R. Ambedkar
dfour-am ¥ grer afify & orema w9 & 2
(1) TenERam %o (2) % wA s
(3) 9. T 4) 9 o sidEeT
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70

Which Schedule of the Indian Constitution is related to Anti-Defection Law

(1) Fourth Schedule . (2) Eighth Schedule

(3) Tenth Schedule (4) Twelfth Schedule
wﬂ?ﬁuaﬁrmaﬁaﬁﬂ@raﬂ'@aﬁ—wﬁﬁﬁmﬂa%mﬁ% ?
(1y =er ergeel @) o e

(3) wud erggr (4) = sggE

RN

India is a 'Republic', because : _ :
(1) The President is elected. AN

(2) Parliament is bi-cameral. -

(3) Council of Ministers is respon51ble to Lok Sabha.

(4) Fundamental Rights of citizens are guaranteed by the Constitution.
TR TF VAT ¥, Fie

() galy Praife s ¥

2) g fg-gemem ¥ |

(3) wbmftwg wiw 9 ﬁs Tf SARERt ¥ |

() e % qw efue @fee grn wang ¥

Which Fundamental Right in Indian Constltutlon prohibits traffic in Human beings *
(1) Right against Exploitation (2) Right to Freedom
(3) Right to Equality (4) Right to Constitutional Remedies

g wiaE ¥ Re qw ofer wee % getue @ i e ¥ 7
(1) we F faes SR (2) T@ENAT B AIBT
(3) TAAT &t HAEHT (4) G IwATd Wl AR

Consider the following statements :
{(A) Parliament cannot make any law which encroaches Fundamental Rights.
(B) Parliament can change the Fundamental Rights through Constitutional

Amendment. _
Which of the statement/s given above is/are correct ?
(1) (A) only (2) (B) only
(3) Both (A) and (B) (4) Neither (A) nor (B)

Preifeg sl W R @ik

(A) TE2 FE FT TE N gHA ¥, St oqw erfuert w atfsHer B
(B) wuy whwm—dsiem g ay efuwd @ uRElkia wX wwd ®
Sugad wul W U By HOT we g 7

(1) & (A) (2) % (B)

(3) (A) @i (B) &l @) T (A), T & (B)

In which part of the Indian Constitution, Directive Principles of State Policy
are mentioned ?

(1) Part III (2) Part 1V
(3) Part IV-A (4) Part V
gl d@feae % e 9w § wee-9g & FReyw gwl @ Sww § 7
(1) = 11 (2) 9 1V
(3) W IV-& (@) 9 v
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71 Among the following, what is: not mentioned in the Directive’ Principles of
State Policy ? U Lo
(1) Living wage for workers:

(2} Uniform civil code for the Gitizens

(3) To develop the Scientific temper

(4) Free Legal Aid
W%ﬁé%wﬁaw——%%ﬁ%waﬁﬁwﬁgm% ?
() #HeRi & fm Prafe wogh |

(2) =il & fg s kK ﬁTi%ra whan

6) it gieatm w1 R

(4) Trges fafeer wemar

72 The President Addresses his resignation to
(I)  Chief Justice of India -+ (2) Attorney General tor India
(3) Speaker of Lok Sabha - (4) Vice President of India

.U@%mmwmw
(J)Wﬂsg@rwmﬁf%faﬁ (2)%%%@71@7&?&1
(3) wrBEWI-3eTE B (4) 9RG & Su-Tufy @

73 Who inquires the disputes arising out of the election of President 9
(1)  Election Commission of india - (2)  Supreme Court

(3) Parliament (4) Attorney General for India
W%ﬁaﬁaﬁmﬁmﬁﬁm%&%mﬁaﬁ% ?
(1) A FeflEm smy (2) ToEEw ~uEEE

(3) dEg (4) WA & HERIEERr

74 Among the following, who was a member of Rajya Sabha while becoming
Prime Minister ?

(1) Indira Gandhi (2) Morarji Desai

(3) Charan Singh (4) V. P. Singh

Frifeer & 9, aﬁﬁwmﬂﬂs?raﬂ%wmwwmwaﬁ ?
(1) 3 i (2) =t

(3) = f¥e (4) 4. . Rz

75 The Prime Minister administers oath of office to :
(1) Deputy Minister (2) Deputy Prime Minister
(3) Protem Speaker of Lok Sabha (4)  Parliamentary Secretary

aES 58 we @Y sy Ry &7
(1) 39 Wl @y (2) U YuFEST @)
(3) orueht dregmema Wy (4) dudm afug =
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30

Among the following, which feature qf_ the Indian Constitution is not truly
'Federal' in nature 7

(1) Distribution of Governmental Powers

(2) Written Constitution

(3) Integrated Judiciary

{(4) Judicial Review

ﬁmﬁﬁmﬁ%,w@mﬁﬁmﬁaﬁaﬁ%ﬁwwﬁﬁﬁnm‘%'

(3) USpd =R () ERREGICE
Identify the incorrect pair of Political Party and its Leader :

(1) Nationalisi Congress Party - P. A Sangma
(2) Communist Party of India - S. Sudhakar Reddy
(3) Communist Party of India (Marxist) - Prakash Karat
(4) Bahujan Samaj Party - Mayawati
e aw olX Sad Y@ & gl g Wl e

(1) egamdl s il o uw Em
@) W wghe 9 ~ . ug. guet &
(3) WRE @ FghRe Wl (ArRTar)) R CAC ARG
(4) WEIH WA TR ~  ATETE

With which neighbouring country, India has a dispute over the water division
of Teesta River ?

(1) Nepal (2) Pakistan

(3) Bangladesh (4) Bhutan

e 9 F wE-dean W, aa F pE TR 3w % e frEw ¥
(1} o (2) wieEH

(3) IR (4) A

{n November, 2013, which country has reached an interim agreement with P5+1
countries over its Nuclear Energy Programme ?

(1) Israel - {(2) Iran

(3) Syria ° (4) India

TEEy, 2013 ¥ @R A Ty Y o AW S BEER & e W Ps+l 29l
¥ iy am oiaRe e 6w

(1) somEd 2y w®A

(3) wfan (4) 9Rd

The tenet of 'Genuine Non-alignment’ in India's Foreign Policy was presented by :
(1) Indira Gandh (2) P. V. Narsimha Rao

(3) VP Singh (4) Atal Bihari Vajpayee

W & frerdfy ¥ Cormdl Te-Prodear @ gde ¥ wgawdl 4

(1) g () W @ TR @

(3) . d. s (4) orw fErll awud
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81  Educational Psychology deals with -

(a) Teachers #«(b) Teaching
(¢} Classroom environment (d) Pupil
Which among the following is the best choice ?
(1) only (d) (2) (a) and (d)
(3)  (b), (c) and (d) 4) (a), (b), (¢) and {d)
e wAifasm @1 @y ¥ -
2y T 4 ©(b) e @
(c) hemhy TRERC ¥ (d) Terneff @
e & omar 999 orem fydew ¥ 7
(1 & (d) 2) (a) 9T (d)
(3) (b}, (c) & (d) S @ (), (), (o) IR (d)
82 Match List-1 with List-Il and select the correct answer using the codes given

below

List-1 List-I1
1 John Dewey A Gestalt
i Tichener B Structuralism
Il Koftka C  Functionalism
IV Watson D Behaviouralism
Codes :

| I 11 v
() D B A C
2) B A C D
3) D C A B
4) C B A D

ga-1 & gE-1 8 gifeg @i ot 91 R o e § w@ s @ v
HIRT

-l -1
1 = S A TER
P e Ty B €W@EIER
il s C PUar
IV 9regq D =HauiEr
wE ¢

I i 11 LY
(h P B A C
(2) B A C D
(3) D C A B
@ C B A D
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"Learning is the acquisition of knowlgdge and attitude". The above definition
of learning has been given by

(1) Crow and Crow . (2).: - Kingsley and Garry

(3) Hillgard (45- Woodworth

‘g ol eifgfa @ R aiftrm ¥ eftrm A Sude oo & ¥ -
) @ w A @. foed w0 A

G) fewmd ¥ - (). 3o ¥

Match List-I with List-TI and select the.correct answer using the codes given
below : '

List-I . List-TT

1 Thorndike A .Conditioned Response
i Pavlov B . Re-inforcement Theory
I Clark Hull C  Insight Theory
[V Kohiar D SR Theory
Code :
1 11 il 1A%
() D B C A
2) B D C A
(3) D A B C
4) A B D C

gar-1 @ ga-1l ¥ gave sy ofit i faw T we ¥ @ S @
qOq BN

-1 | -1
1 grfeEs A SgEed e
1 e B  guewWd @ fawra
o & C ot Rram
IV ®Eal D Wuw orghem e
&E :

[ 1l il v
() D B C A
(2) B D C A
3) D A B C
4y A B D C
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5 Tick the appropriate chain in the lédrning process :
(I} Goal - Adjustment - Motive - Change.
(2) Change - Goal - Motive - Adjustment
(3) Motive - Goal - Adjuétment -.Change
(4) Adjustment - Motive - Goal - Change
afrm wfpen & & & @ wE HfEC
() w@ - goEeE - ke - 9
@) ofer - @m - e - EEEeE
(3) WIH - W - mHEew - ufads
(4) waEEH - W& - W~ uiERE

i6  Which one is the constructivist approach of learning ?
(1) Student who learn by repeating new information over and again.
(2} Student who elaborate on:idew information by analysing interpreting and
~ connecting it to previously learned information. '

(3) Student who does not learn the new information if it contradicts to what
he already new to be true.

{4) Student who waits for the teacher to assess his previous knowledge about
particular topic and let him to add new knowledge.

Frr & & @ sifrm o Frftfqare sorm 7

() BE @ 789 O ® IR I FROHE € Al & |

(2) B ST gET B R @ faeseer s S, |re s § ol gEe
¥ wEeR dear ¥ o1

(3) ®E W &N o, g qdee § M g8 g9 W 8, ¥ eI s
@ w8 T e

(4) o S e @1 3R Bl § 6 ar sy e yweo & e A 9Es
QIS @i G Wbl AAM Er Bl & |

87 Which one of the following statement is not correct 7
(1) Growth and development are synonym.
(2) Growth include changes in quantitative aspect.
{3) Growth does not continue throughout life.
(4) Growth may bring development,

e o ¥ e wuw wer W ¥ 7
() ghg ud em wwhad € |
@) Fhs ¥ W oRadT fia ¥ oo
- (3) ghg e 9 ERT |

@) d9fg & T faem @ @ ¥ o
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- 88  Which statement is wrong in relatiom:;to' human development ?
(1) Tt continues till maturity i)

(2) 1t is a continuous process ¢}

(3) It is progressive sequence of change

(4) It happens also in pre-birth stage

LIS CIREEA Sl R T o B B e o S
(1) ¥% wlRggaan o oo &

(2) ¥E WG THHA T

() ag ufyads @ wifaele ww ¥ 0

(@) = saqd grren WO g ¥

89  Which of the following characters has‘_;:li,ré'ét influence on the persenality ?
(a) Physique and social behaviour |
(b) Mental and spiritual make-up
{c) Emotional aspect
(d) Experience
Select the correct answer using the codes given below :
(1) only (a) (2) (a) and (d)
(3) (b)and (c) (4) " All the above
Prg § @ @ @ s o @ @8 ke B 2 2
(a) RS Mot Ud wrihe waEr
(b)y wHfEE wd emeators drEer

(c) TAMHE AT -

(d) ogHa

e BT gu gel @ suae @ ows 3w ghg

(1) Tk (a) (2) () W@ (d)

(3) (b) T () #) wwdw @l
90 Which one is responsible for maladjusted personality ?

(1) Too much of super ego (2) Having ego

(3} Lack of aspiration 4 1d

e 4 & o =fka & Q@ ma=m & foe Reer & 2

() g FN & Al (2) e

(3) TRiEm B FAHI 4 3%

00 A 28 [ Contd...



1 Three dimensional theory of intelligemce: is of R

(1) Spearman : (2) Thorndike L
(3) Guilford (4) Kerlinger DU
e & Bowmeh e ¥ - o

(1) wmum @ (2) uFeEd @

(3) fresE = BT 4) BRI @

2. A child can be judged as having creative abilities if he/she -
(1) Ask questions out of curiosity .
(2)  Achieves high marks _
(3) Is obedient and complete homework
(4) Creates indiscipline in the class
RGOS A (@ § uR as -
(1) fosmam@e ueT qeer ¥
(2) e =X Wi wedr
(3) oEE ¥ S TERR U @il &
(4) & F AIET W BN T

3 Which one of the following. statement about intelligence is not .correct ?
(1) Intelligence is the product of heredity and environment.
(2) Vertical growth of intelligence continues life long.
(3) Intelligence is not gender bias.
(4) Intelligence is mot birth right of a group/race.

e & dou ¥ fra § @ @ wuw vl Al v 2

() g 991 BA i vgtaw & 29 & )

2) g8 F wEaq ghe deewdw B ¥

(G) ghe W % T s |

(4) Fe w5l 9 o wf @ Sivs oitmr a8 ¥

94  Which one of the following is not an aspect of motivation ?

(1) Need (2) Pressure
(3) Drive (4) Incentive
e & @ @ ofom w1 wa ¥ 7

(1)  Saggesa (2) TEE

(¢) gma (@) - @) W
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95  Assertion (A) : Motivation is important:in the process of teaching learning.
Reason (R) : Motivation is attraction towards a goal and clarlhes its meaning.
Codes :

(1} Only (A) is correct and (R) is incorrect

(2) Only (A) is correct

(3) Only (R) is correct

{4) Both (A} and (R) are correct

weE (A) ¢ e s wfemd oRTRen eayEd ¥

9 (R) : aﬁﬁ?ﬂnaﬁwﬁmzﬁﬁﬁ%aﬂﬂ{«aﬂaﬁaﬁ?miﬁ
CaGINEA :

(1) fak (A) 98 ¥ wd (R) d ¥

) fad (A) @& &

G) Tk (R) @&l 3

@ (A) @ (R) S OE

96 Which comes under extrinsic motivation 7
(a) Reading a poem
(b) Solving mathematical problem
(¢} Participation m a race
(d) Drawing a picture
Select the correct answer using the codes given below !

(1} Only (a) (2) (b) and (d)
(3) Only (¢) (4) (a) and (c)
e & ¥ o wE S WWH 3§ 7

(a) HIAIS :

(b) T &® UST T TN
(<) CERE: B IR

(dy ®= ==

I R B § w9 W @ WA N

(1) RE (a) (2) (b) 3T (d)
3) RrE (o) 4) (a) 3 (c)

97  Knowledge of individual ‘difference helps teacher in : °
{1) Maintaining discipline in the classroom
(2) Evaluating homework of students
(3) Planning the teaching learning activities
(4) Making necessary system in the class
R =il @ S sreAIge Bl MEE Bl §
() ®@ H oFyTRT g 3@T §
() ®E % TEEE b gRieT i
(3) Ty sftem fpareh @ O g o
(@) ww ¥ oEwe wWaen §Y @ |

00 A - 30 | Contd...



'8

929

100

Which of the following comes under; the category of 'Children of .Special
needs' ? ' RETA Veran,
(a) Gifted

(b) Mentally retarded

(c) Physically handicapped

(d) Socially handicapped

Select the answer using the codes ‘given below :

(1) (a) and (b) 2y (e) and (d)

(3) (b) and (c) . 4y All the above

Fre % @ B R savgwd @ e’ & @t N emar ¥?
(@) wRrTEE -

(b) R w9 ¥ R
(c) 9RITs w9 ¥ ofem
(d) ufve &9 o e
T Ru we § ¥ 98 wav wgw A

(1) (a) 8% (b) | @ (9 & (d)

() () 3R (o) (4 ST W

Whick of the following consists a wealth of instruction material ?
{1) Text book (2)- Work book

(3) Self instructional booklet (4) Resource unit

frafafed & @ few & ogdym wnplt & st 2 & 2

(1) wyE® (2) @& Yww

() @ FFRE giaw (4) wEeN TR

Which way should be adopted by school authorities to maintain healthy mental
hygiene of the students ?

(I) Congenial atmosphere at home

(Z) Watch on children's friend

(3) Periodical Medical check-up

(4) Good method of teaching

Bl ] AFRIE Y ¥ W UG W@ 99 @©F & fWo e wamga @ @
TUBT HOAAT Ay ?

(I) =X WX g amEce &

(2) Tt F B o e e

(3) Tl wres wlem

@ oo & g RHEt
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